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Aristotle’s theory of causal action as presented in Physics 111 3 has usually
been taken to be quite straightforward. According to the tradition, when an
agent acts on a patient, the change is located in the patient. If the patient
reacts on the agent, then the agent is a patient in the new relation. If the
agent is moved not by a reaction on the part of the patient, but by some-
thing else, then it is not the primary agent. It is an intermediate mover
which is ultimately moved by a primary unmoved mover. On this analysis
the primary agent is unmoved. There are two reasons why this view has
seemed plausible. First, if the primary agent is moved, then an unmoved
mover of any sort would seem to be impossible. Secondly, if both the agent
and patient undergo changes, but not different changes, then this passage
is in conflict with Aristotle’s stipulation in Physics V 4 that a single motion
presupposes a single subject that undergoes the change.

It is common nowadays to speak of Aristotle’s theory of four aitiat as a
theory of different kinds of explanation of why a thing is or acts as it does.
This is no doubt correct and is certainly the account we need in order to
make sense of Aristotle’s material, formal, and final aitiai, and some of his
examples of efficient aitia, such as the art of building, which he sometimes
says is the efficient cause (or because) of the house. This paper is primarily
concerned with those things that are not merely reasons, but also causes of
change, that is, with efficient causes that function as agents — those things
that do the pushing and pulling — and the question is whether the agent,
i.e. the doctor, builder, or teacher, is changed when it produces a change in
something else. The issue is not whether the agent is changed by a corre-
lative reaction on the part of the patient, or whether the agent is changed by
some further cause that acts on it, but whether the agent as primary agent
in the context of a particular change is changed by producing a change. I
aim to show that in Aristotle’s analysis of action and passion in Physics I1I
3, the agent as well as the patient is changed.

There is an assumption upon which Aristotle’s argument is based. The
action of the agent must be simultaneous with the passion of the patient. In
Phys. 11 3. 195 b17 ff., Aristotle tells us that that particular thing which is
actually bringing about an effect is simultaneous with that which is being
affected. For instance, the particular person who is doctoring is doctoring
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at the same time as the particular person is being healed, and the particular
person who is building is building at the same time as the particular thing is
being built. This condition restricts the range of actions that Aristotle is
considering. The action described by “Sirhan’s pulling of the trigger caused
Kennedy to die” would be ruled out because Sirhan’s pulling of the trigger
occurred prior to Kennedy’s dying. However, one could describe a dif-
ferent action which would meet Aristotle’s condition of simultaneity. The
statement “Sirhan’s killing of Kennedy caused Kennedy to be assassi-
nated” meets the requirement because the killing by Sirhan is simult-
aneous with the assassination of Kennedy. Aristotle’s paradigm cases of
action and passion are all of this kind: doctoring and being healed, build-
ing and being built, teaching and learning.

I shall first discuss the importance of Chapter Three in relation to
Aristotle’s definition of motion in Phys. III 1. Secondly, I shall argue for
what I take to be the correct reading of Phys. 111 3. Thirdly and finally, I
shall show that the reading I have suggested does not conflict with Phys. V
4 and does not preclude the existence of an unmoved mover.

I

Phys. 111 3 rounds off Aristotle’s discussion of the definition of motion
which he presents in III 1. Chapter Three serves as a clarification of the
earlier treatment, and the restatement of the definition at the end of the
chapter suggests what precisely the chapter was intended to clarify.

The definition as presented in III 1 reads as follows (201 a 10-11):
*“Motion is the entelecheia of that which is in potentiality qua such (f
towovTov).” The meaning of “entelecheia” remains a hotly debated issue.? In
Phys. 111 1 it has been taken to mean either “actualization” or “actuality”.
The evidence seems to me strongly to favor the “actuality” reading. The
etymology of the term is uncertain, but it has usually been assumed that it
derives from “r0 évteNes £xov”, “having perfection”, which suggests a state
rather than the process to a state.® The term is nowhere else in Aristotle
used 1o mean “process”, but always has the sense of “actuality” or “per-
fection”. But more importantly, if Aristotle is defining motion in this
passage, and this seems to be his project for he says at the beginning of the
chapter “8¢l pn Navdavew 1i ot xivnois”,* then on the “actualization”
interpretation the definition is circular because a term which means
“process” turns up in the definiens.

Aristotle often uses “&vreNéxewn” and “évépyeia” synonymously, and
they are in fact used synonymously in passages concerned with the

130



definition of motion (e.g. at Phys. 111 1. 201 b 8-13 and by the author of
Met. K 9 at 1065 b 16). There are dangers in understanding “évépyeia” as
“process”, not the least being that Aristotle explicitly distinguishes évépyeia
from xivnows in Met. ® 6. However, “évépyewa” does seem to be an
ambiguous term. It sometimes means “activity”, instances of which would
be seeing, thinking, or being happy, sometimes “actuality, the form of a
thing”,> and sometimes “actuality, the individual thing”.# So one could
argue that “évépyeia” can also mean “actualization”, but then the objection
of circularity in the definition will again apply.

So I take it that “évreNéxewa” should be translated “actuality”. But this
leaves us with a further question. Should *“évreNéxeia” here be taken to
mean the form of something or the individual thing that has that form? The
question is significant because if “actuality” here is used to signify an
individual, then it looks as though Aristotle is interested in processes as
individuals which can be referred to by singular terms and which can have
properties. If “actuality” is used to signify the form of a thing, then it is
likely that he is interested in motion only as it is predicated of something
else. The definition does not itself give us an answer to this question.
However, as will become clear from my discussion of Phys. III 3, it does
seem that Aristotle thinks that processes can have properties. Moreover,
the fact that he gives conditions for identifying and individuating changes
in Phys. V 4 suggests that Aristotle conceives of processes as individuals
which, although dependent for their identification on substances, are not
totally reducible to them.

The sense of “fj TowotTov™ has also been debated.” Later in the chapter
Aristotle uses the expression “fj xuwnrév” (at 201 a 29) and ““f) Suvarov” (at
201 b 5) for the same purpose. What is the function of these expressions in
the definition? If I am right in my suggestion that “évteNéxeia” means
“actuality or individual”, then there is an obvious reason. For three en-
telecheiai play a role in any change: the subject which undergoes the
change, e.g. the bricks; the product which will result from the change, e.g.
the house; and the motion, e.g. the being built. So if this view is correct,
then *“f) TowobTov” is being used to indicate how the thing described as
potential must be understood so that we get motion as the actuality rather
than the materials or product.

The definition Aristotle has given is: “Motion is the actuality of that
which is in potentiality qua such (or qua movable or gqua potential).” We
must first ask, what does Aristotle mean when he describes something as
“that which is in potentiality”? To identify something as potential, one
must identify it via the actuality or end, for this actuality determines what
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the potentiality is a potentiality for. By calling something “potential”, one
is saying that the thing is not ¢, but is the sort of thing which can become ¢.
So a potentiality is something which lacks some particular form ¢, but is
the sort of thing that can achieve that form.

We may now ask the further question, what does Aristotle mean by
adding the additional phrase “qua such” or “qua potential”? Given that
“being in potentiality” must be cashed out as “being potentially ¢”, the
phrase “qua such” or “qua potential” signals that once we have identified
something as potentially ¢, i.e. as the privation of the resulting state, what
we are interested in is not the actuality which is the resulting state, but
rather the actuality of the potentiality insofar as it is potential, i.e. has not
yet become .

Let us consider this actuality. There is something which corresponds to
“matter”, the subject x which is potentially ¢. It is potential so long as it is
such as to be ¢, but is not g. For instance, bronze is potentially a statue so
long as it is such as to be a statue, but is not a statue. There is also something
which corresponds to the “form” of the potentiality insofar as it is
potential, namely an infinite series of predicates describing points on a
range from not-¢ to @. The actuality in question is a combination of these
two factors: the actuality is an actualizing, the process of x becoming ¢.

The point of the phrase “7 TolobTov”, then, seems to be to pick out under
what description the subject, that which is in potentiality, is being consid-
ered so that we get motion as the actuality rather than the materials or
product. Of the three alternatives, two are ruled out. The subject is not
considered gua potentially a house because Aristotle excludes the actuality
which is the product at 201 a 10-11: “The actuality of the buildable is either
the act of building or the house, but when the house exists it is no longer
buildable, but that which is buildable is being built.” Nor is the subject
considered qua what it is actually, for Aristotle excludes the actuality which
is that which undergoes the change at 201 a 29: “Bronze is potentially a
statue, but motion is not the actuality of bronze qua bronze; for the being of
bronze and the being of something potential is not the same, since if they
were the same absolutely and with respect to the account, then motion
would be the actuality of bronze gua bronze.” Instead the subject is
considered qua potential, i.e. such as to be ¢, but not yet ¢. Motion is the
actuality of something, say bronze, which is potentially a statue insofar as it
is potential, that is, insofar as it is such as to be a statue, but is not yet a
statue. Motion is the actualizing of that subject from not-statue to statue.
So motion is the actualizing of a subject from not-g to ¢. And once the
subject is informed by @, it is no longer potentially, but is actually ¢. The
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definition is not circular because no term denoting a process turns up in the
definiens. However, the actuality which the definiens describes is a process.

The definition as stated in Phys. 1II 1 applies to the patient and not
explicitly to the agent. However, the extension to the agent seems to be
implicit in the definition because earlier in the chapter Aristotle has placed
the agent and patient in the category of relative (200 b 28 ff.): “Among
relatives we place the more and the less, and that which can act and that
which can be acted upon, and generally that which can cause motion and
that which is movable. For that which can cause motion can cause it with
respect to that which is movable, and that which is movable is so by that
which can move it.”® Since the agent and patient are relatives, it would
seem that motion is the relation between the agent and patient. Aristotle
never discusses relations as such. His treatment of the category of mpés 1vin
Categories 7 and Met. A 15 is a discussion of things which stand in some
relation, i.e. relatives. But if I am right about this paradigm case of motion,
then Aristotle is in fact interested in the logic of relations. And if this
suggestion is correct, then it is implicit in the definition of motion that
motion is the actuality not only of that which is able to be changed, but also
of that which is able to change it.

I'shall argue that it is the task of Chapter Three to make this extension of
the definition explicit. The claim would seem to be justified by the con-
clusion of Chapter Three where Aristotle restates the definition in terms of
both the agent and patient. He says at 202 b 26-27: “To put it more clearly,
[motion is the actuality] of that which is potentially active and of that which
is potentially passive qua such.” But to see if the claim is true, we must turn
to the text.

II

So let us look now at the text of Chapter Three. The chapter breaks into
four sections. In 202 a 13-21 Aristotle states his thesis that there is one
entelecheia® of both the mover and the moved. In 202 a 21-36 he presents a
difficulty which he resolves by reductio. In 202 a 36 - b 22 he returns to his
positive thesis and, after raising and resolving a further difficulty, he sets
out his own position in more detail. Finally, in 202 b 23-29 he summarizes
the chapter taking into account the conclusions that have just been estab-
lished.

He begins as follows (202 a 13 ff.): “What was puzzling us is clear, that
the motion is in that which is moved; for it is the entelecheia of this by the
mover. And the energeia of the mover is not different; for it is necessary
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that the entelecheia is of both; and that which is capable of causing motion
is in potentiality, and it moves by acting, but it is able to act with respect to
that which is movable, so that the energeia of both is one, just as the interval
between one and two and two and one is the same, and the upward and the
downward [by which Aristotle seems to mean that there is something, e.g. a
road that goes up and a road that goes down]. These are one, but the
account is not one; so it is likewise with respect to the mover and the
moved.”

How are the terms “tvreNéxewn” and “évépyewa” being used in this
passage? I have already suggested that in Phys. III 1 the terms have the
same sense, viz. “actuality” taken to stand for the individual. But someone
might say that the meanings of “entelecheia” and “energeia” (in its sub-
stantive form) should be distinguished here; that, for instance, “energeia”
has the special sense of “activity” discussed by Aristotle in Met. © 6. But
this will not do because Aristotle says at 202 a 14 that the motion is the
entelecheia of the moved by the mover, and that the energeia of the mover is
not different. And he goes on to say that the energeia of both (the mover
and moved) is one, which is the point he is making at 202 a 15-16 when he
says that it is necessary that the entelecheia is of both (mover and moved).
Clearly the energeia of the mover and moved is not different from the
entelecheia of both. Hence the two terms are synonymous.

But one could more seriously argue that “évreNéxewx” and “gvépyeaa”
mean the same thing, but what it is to be that entelecheia or energeia is
different for the mover and for the moved. Motion, one might say, is the
entelecheia of the moved by the mover, and something else, for instance
energeia in its narrower sense of “activity”, is the entelecheia of the mover.
This is an attractive suggestion because Aristotle’s argument in Chapter
Three proves that the entelecheia of the agent and patient is one, but in the

- argument Aristotle does not explicitly claim that motion is the entelecheia
of both. To use Aristotle’s paradigm case of moinois and madmais in Chapter
Three, teaching and learning, the claim would be that the entelecheia of the
teacher and learner is the same, but what it is to be that entelecheia for the
teacher is an activity, namely a teaching of the teacher in the learner, and a
change in the learner, namely a learning of the learner by the teacher. If
this is the case, then the agent is not altered when he acts. Only the patient
changes.

Will this do? Had Aristotle spoken of the action of the teacher as a
“mp&éis”, the answer would be more clearcut, because in Met. © 6 Aristotle
claims that activities are mpa&eis, but changes are not mpagets, or at any rate
not complete mpagess. In Phys. I11 3 Aristotle does not speak of teaching as
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a “mpa&gis”, but as a “moinois”. But this choice of words does not in itself tell
us very much. We may perhaps discount the use of “noweiv” to characterize
the function of that in virtue of which an agent can act, such as an art,
because in Phys. 111 3 Aristotle does not speak of the art as cause, but of the
artist. Still, it is not clear whether the moinois of an agent is a change or an
activity. Although Aristotle sometimes distinguishes moteiv and mparrew on
the grounds that a moinows has an end separate from itself whereas a mpagus
is an end in itself,’® which suggests that a moinois meets the conditions for
being a change, it is not obvious that moweiv can be so easily disentangled
from mp&TTew. There are cases in which “moietv” is used with the sense of
“act” rather than “produce”.!’ And although in Met. © 6 Aristotle tells us
that building is a change, and building is a standard example of a moinaus,

in De An. I 5 he classes building with thinking, which is a paradigm
activity. This suggests that the term “moinois” can refer either to a change or
to an activity depending upon the context in which the term is used.

Let us look more closely at how Aristotle distinguishes a change from an
activity. He gives the criteria to be satisfied by changes and activities in
Met. ® 6 and E.N. X 3-4. A change, he says, is not an end (Met. ©
6.1048 b 18, b 22) and does not contain its own end (b 20-21), but is
directed toward an end (b 19), and it has a limit (b 18). A change occurs in
time (E.N. X 4.1174 a 19) and is complete only when it does what it aims at
(a 20), i.e. it is complete only in the whole time or in the final moment
(a 21). A change has parts which are not only incomplete, but also differ in
form from the whole and from each other (a 21-23). The form of a motion
is determined by its end-points (m6dev mot) (a 31-34; b 4-5). Since a change
is complete only when the end is reached, one cannot say at the same time
that something is X-ing and has X-ed (Met. ® 6.1048 b 30-33): “is X-ing”
applies to the subject only before the end is reached, “has X-ed” only after.
Further, one would say that that which is changing is different when it is
X-ing and when it has X-ed (b 32-33).12 Because there is an end to be
achieved and a change takes time, the end can be achieved quickly or
slowly (E.N. X 3.1173 a 31 -b4).

An activity, by contrast, is an end or is that in which the end is present
(Met. © 6.1048 b 22-23). An activity does not have a limit, or at any rate
does not need to stop at some time (b 26-27). It is complete at any time
(E.N. X 4.1174 a 14-15), for it lacks nothing which coming into being later
will complete its form (a 15-16), i.e. its form is complete at any time (b 5-6).
An activity is whole in a “now” (b 9). Since an activity is an end in itself and
is complete at any time, one can say at the same time that something is
X-ing and has X-ed. And one would say that that which is X-ing and that
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which has X-ed is the same (Mer. © 6.1048 b 33-4).13 And because there is
no end apart from the action and the action is whole in a “now”, an activity
cannot occur quickly or slowly (E.N. X 3.1173 a 31 - b 4).

Given these conditions, when will building count as a change and when
as an activity? Surely it must be a change when the builder has an aim
separate from his action, i.e. when there is a product that the builder aims
to produce. The action will be complete only once the product is finished.
The act of building has parts different in form from the whole and from
each other. In ELN. X 4 Aristotle clarifies this general point with the
example of building a temple. At 1174 a 21 ff. he says: “All motions are
incomplete in their parts and in the time they occupy, and the partial
motions are different in form from the whole and from each other. For the
putting together of the stones is different from the fluting of the column,
and these are both different from the making of the temple; and the
making of the temple is complete (for it lacks nothing in view of the end
proposed), but the making of the foundation and of the triglyph is in-
complete; for each is the making of a part. These differ in form, and it is not
possible to find at any and every time a motion which is complete in form,
but if at all, in the whole time.” The act of building also has a form, a track,
the end-points of which could be described as “is not building a ¢” and
“has built a ¢”. Also, the aim can be achieved quickly or slowly. Building
thus meets the conditions for being a change.

Since building seems always to have an aim separate from itself, can it
ever count as an activity? The answer must surely be yes. If we look not at
any particular act of building which must have an aim separate from that
act, but at the person who has learned how to build and is exercising his
capacity, his act of building will be an activity, like flute-playing. Here we
are not concerned with the end separate from the act, but only with the act
which, because it is the manifestation of a capacity, is an end in itself. So
one would say in this case that the builder is not altered when he builds.

In which way is “woinows™ used in Phys. 111 3? The temptation is to say
that since the entire chapter is concerned with one thing bringing about a
change in another, the action is a change completed only once the change is
completed in the patient. Thus the teacher has taught the student ¢, say the
multiplication tables, only once the student has learned ¢. In the reductio
argument at 202 a 21-26, Aristotle assumes that moinous is a change and that
it has an end (moinpa). But this argument can be taken seriously in two
ways. On either view, Aristotle is arguing that there cannot be two changes,
but must be one energeia. On one view, which I shall consider in more
detail later, one would say that Aristotle admits that both moineis and
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médmais are changes, but argues that they are not different changes. There is
one motion which is the energeia of both the agent and patient. But on the
other view, which I have been considering, the point of the argument is to
show that although there is one energeia of both the agent and patient,
what it is to be that energeia is a change for the patient and an activity for
the agent. On this view Aristotle proves that moinows cannot be a change.
There is one change which is in the patient.

Let us consider this. If the learning of the student is 2 change, then one
cannot say at the same time that the student is learning and has learned.
For this condition to be true, the verb must imply a terminus, and it must
be the same terminus which is the goal of the progressive tense and the
achievement of the perfect. Otherwise one could say at the same time that
the student is learning ¢ now and has learned ¢ previously. Teaching, on
this view, is an activity. One can say at the same time that the teacher is
teaching and has taught; the teaching is an end in itself, so it is complete as
soon as it starts. But can one say that the teacher has taught when the
student has not yet learned? (Teachers may find it reassuring to think they
have taught when they exercise their art before a sea of blank faces, but
there is the inclination to call this wishful thinking.) Teaching, like learn-
ing, implies a terminus. To say that the teacher has taught when the student
has not yet learned is like saying that a has killed b when a has only shot the
gun. Surely a has not killed b until b dies, which may be hours or days after
the shooting takes place.'* Of course teaching can be an activity, just as
building can be, in which case it is an end in itself. But Aristotle is here
talking about one thing bringing about a change in another. That bringing
about is not complete until the change in the patient is accomplished. As
Aristotle says in Mer. © 8.1050 a 17-19: “Teachers think that they have
achieved their goal when they exhibit the student performing.” So teach-
ing, and in general moinous, as it is used in Phys. I1I 3, is a change.

This conclusion is justified by Aristotle’s statement toward the end of
Chapter Three. He says (202 b 19 ff.): “In general we would not say that
teaching is the same as learning or that in the strict sense doing is the same
as suffering, but {they are the same] in virtue of that to which both of these
belong, namely the motion; for we would say that the energeia of this in that
and the energeia of this by that differs in account.” If Aristotle had in-
tended that motion is the entelecheia or energeia only of the moved, he
should have said: “. . . [teaching and learning and doing and suffering are
the same] in virtue of that to which both of these belong, namely the
entelecheia.” The account which distinguishes the entelecheia of the moved
from that of the mover is not an account of the entelecheia as a motion of
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the moved and the entelecheia as something else of the mover, but rather
the account of what it is for the motion to be the entelecheia of the moved
and the account of what it is for the motion to be the entelecheia of the
mover.

Both teaching and learning, and more generally, doing and suffering are
motions. The point of Aristotle’s claim at the beginning of Chapter Three,
then, is that what he will show is that the correlative doing and suffering are
not two different motions, but one. His thesis is that there is one entelecheia
of both the mover and the moved.

In the opening passage of Phys. I11 3, Aristotle compares the action of the
mover and the passion of the moved to something, such as the road which
goes up and the road which goes down. These, he says, are one, but the
account is not one. The two descriptions “road up” and “road down”
designate the same individual, the road. But the account of what it is for the
road up to be the road is different from the account of what it is for the road
down to be the road, for in the first case we describe all the turns and
signposts between A and B, and in the second we describe all the turns and
signposts between B and A. Similarly, the two descriptions “action” and
“passion” designate the same individual, the motion, but the account of
what it is for the action of the agent to be the motion is different from the
account of what it is for the passion of the patient to be the motion. One
account describes what the patient suffers; another describes what the
agent does.

In the section that follows, Aristotle examines a difficulty which we have
looked at briefly already. Many critics assume that the passage presents a
purely sophistical objection which turns on the verbal difference between
“moinois” and “mddnows”.1® And so it would be if Aristotle has already
assumed that the change applies only to the patient. But if, as I have
argued, Aristotle believes that there is one change which involves both the
patient and agent, then the charge that this is two motions is an objection
that must be met. At 202 a 21 Aristotle assumes, contrary to the thesis
above, that the energeia of the agent is different from that of the patient,
and argues by reductio that this is impossible. He thus establishes his
original thesis that there is one energeia of both the patient and agent.

He assumes that there are two motions, a doing (moinos) and a suffering
(wadnous). It follows from this that the function and end of each is different:
of one the end is the thing done (moinua), of the other the end is the
affection (ma&dos). Since there are two motions, he asks: “If they are dif-
ferent, where are they located?” Either (1) they are both in that which is
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acted upon and that which is moved, or (2) the action is in the mover and
the passion is in the moved.

He considers the second alternative first. If the action is in the mover and
the passion is in the moved, there will be a motion in the mover (for the
same account will hold of the mover and of the moved, i.e. the motion of
mover g will be produced by mover @’), so that either (a) every mover will
be moved, i.e. there will be an infinite series of movers, or (b) there will be
something which has motion but is not moved. If we accept option (a), then
an unmoved mover of any sort is impossible. If we accept option (b), then
we are involved in a contradiction.

He then examines the first alternative ((1) above). At 202 a 31 ff.
Aristotle says: “If both the action and the passion are in that which is
moved and that which is acted upon, and both the teaching and the
learning, which are two [motions], are in the learner, then first, the energeia
of each thing will not be present in each thing; and secondly, it would be
strange for two motions to occur at the same time in that which is moved,
for how can there be two [simultaneous] alterations of one thing to one
form? But this is impossible.” It is of course not impossible for two
generically different motions directed toward two different ends to occur
simultaneously in the same thing: Jones can become dark at the same time
that he is walking from A to B, and one motion will be incidental to the
other.’® What is impossible is for two active and passive motions of the
same kind and directed toward the same end to occur simultaneously in the
same thing. Jones cannot both learn ¢ and teach ¢ at the same time.

Aristotle concludes the reductio at 202 a 36 with an assertion of the
original thesis: “But there will be one energeia.” He immediately raises a
further objection. This time the charge is not that there will be two motions,
but that, if there are not two motions, then there will be no difference
between what happens to the patient and what happens to the agent. He
says: “Nonetheless, is it not unreasonable for the energeia of two things to
be one and the same in form? And they will be if the act of teaching is the
same as the act of learning and action is the same as passion and if teaching
is the same as learning and acting as being acted upon; so it would follow
necessarily that the teacher learns all the things he teaches and the agent
suffers all the things he does.” It is worth noticing that if Aristotle has been
assuming all along that the motion applies only to the patient, then the
conclusion of this argument is as specious as the consequences arrived at in
the aporia above. What we would expect on the standard view is the
objection that if someone takes different descriptions of one motion to be
synonymous with each other, then the result of this mistake is that the
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learner teaches everything he learns. But Aristotle says that if one makes
this mistake the teacher learns everything he teaches. So Aristotle is clearly
concerned about what happens to the agent. The point of the objection is to
show that one cannot infer from the fact that two descriptions designate the
same thing (and here the same thing is a motion) that they are synonymous
with each other. If one assumes that two descriptions of the same thing or
motion must be synonymous with each other, then trouble will arise equally
when one attempts to describe the motion of the patient and of the agent.
Or to put the point in the language of relations, if one assumes that the
relation R’, the converse of relation R, is symmetrical with R, then it
follows that R(x,y) = R’(x,y), e.g. a teaches b = a is taught by b. But it is
not the case that the two relations are logically equivalent. Teaching and
being taught (or learning) are asymmetrical relations. Only if we permute
the terms in the converse relation can we obtain a logical equivalence:
R(x,y) = R'(y,x), e.g. a teaches b = b is taught by a.

In the rest of the section, Aristotle explains the difference between
descriptions that are synonymous and descriptions that are not synon-
ymous but which designate the same thing. At 202 b 5 he says: “It is not
unreasonable for the energeia of one thing to be in another (for the act of
teaching is the energeia of the teacher, in something certainly, and not in
separation, but of something in something), nor does anything prevent
there being one identical energeia of two things (not as the same in being
(7® elvan), but as that which is in potentiality is to that which is acting).”
Aristotle is saying that two energeiai are the same in being if the two
descriptions of those energeiai are synonymous with each other, that is to
say, if the same account can be given of what it is for those two descriptions
to apply to the object. Two energeiai are the same but the being of those
energeiai is not the same if the descriptions of those energeiai designate the
same thing but are not synonymous with each other, that is to say, if the
account of what it is for those two descriptions to apply to the object is
different. One could say, for instance, that the patient potentially has the
form that the agent already possesses: the two descriptions “potentially ¢”
and “actually ¢” designate the same form, g, but it does not follow that “¢”
is synonymous in its two applications, for the account of what it is for “¢”
to be applied to the patient is different from the account of what it is for
“@” to be applied to the agent. On one account it obtains potentially, on
the other it obtains actually.

Aristotle continues: “So it is not necessary for the teacher to learn even
though the action and passion are the same, for they are not one in virtue of
the account that characterizes what it is to be that action and passion, as for
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instance a mantle and cloak are one, but as the road from Thebes to Athens
is the same as the road from Athens to Thebes, as we suggested earlier. For
all the same properties need not belong to those things that are the same in
some way, but only to those things of which the being is the same. It
certainly does not follow that if teaching is the same as learning, then to
teach is the same as to learn, just as it does not follow that if there is an
interval between two points A and B, then the vector AB and the vector BA
are one and the same. In general, we do not say that in the strict sense
teaching is the same as learning or that doing is the same as suffering, but
[they are the same] in virtue of that to which these belong, namely the
motion. For to be the energeia of this in that and to be the energeia of this
by that is different in account.”

Aristotle’s point is this: synonyms like “mantle” and “cloak” must refer
to energeiai (things), which, under those descriptions, have all the same
properties. “Teaching” and “learning”, which are not synonymous, refer to
energeiai (motions) which are the same in some sense, but they are not the
same in the strict sense because, under those descriptions, the energeiai
referred to do not have all the same properties. Thus the description
“teaching” refers to teaching and “learning” refers to learning, and teach-
ing is the same as learning; but under the description “teaching”, the
motion has different properties from those it has under the description
“learning”, for a property of teaching is that it belongs to the teacher and a
property of learning is that it belongs to the learner. So the account of what
it is for the teaching to be the motion is different from the account of what
it is for the learning to be the motion: teaching is the motion of the teacher
in the learner; learning is the motion of the learner by the teacher. So
although teaching is the same as learning in that they belong to the same
thing, the motion, the teacher does not learn everything he teaches because
what it is to be the teaching is different from what it is to be the learning.

In the final section of Chapter Three, Aristotle states that he has now
explained what motion is in general and what it is with respect to its
components, and he claims that it is easy to show how it may be defined for
each of its species, e.g. alteration is the actuality of that which is alterable
qua alterable. He then repeats the definition of motion in expanded form
(202 b 26 ff.): “To put it more clearly, [alteration or building or healing is
the actuality] of that which is potentially active and of that which is
potentially passive qua such.”
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In Phys. 111 3 Aristotle has proved that there is a single entelecheia of both
the agent and the patient. I have argued that motion is the entelecheia of
both. If this is correct, then both the agent and patient are involved in the
motion. And if both are involved in the motion, then both the agent and
patient are changed in a single motion. The last step follows in accordance
with Aristotle’s conditions for an action to count as a change, namely the
predicates “is X-ing” and “has X-ed” do not apply to the subject at the
same time. This is a sufficient condition for saying that once “has X-ed”
applies to the subject, the subject is changed. Among the conditions for
being a change, Aristotle also says that the subject is different during and
after the change, which makes the claim stronger, but since this condition
depends on a debatable reading of Mer. © 6.1048 b 32-33,'7 [ shall not
press this further point. The weaker condition is sufficient to prove that if
the action of the agent counts as a change, which it does if I am right in my
reading of Phys. 111 3, then the agent is changed.!® And since the patient is
changed, and the motion of the agent and patient is not different, then both
the agent and patient are changed in a single motion.

Two objections can be raised. First, it could be argued that this inter-
pretation conflicts with one of the conditions for the identity of a motion
which Aristotle presents in Phys. V 4. In that chapter Aristotle claims that
there are three necessary conditions: first, the generic and specific identity
of the track along which the subject is moved, for instance, from not
knowing grammar to knowing it; secondly, the continuity of the time
during which the subject carries out the journey; and thirdly, the numerical
identity of the subject that is moved. The problem is the third condition.
On the interpretation of Phys. III 3 that I have suggested, there are two
subjects and not one. It would seem to follow, therefore, that if both the
agent and patient are changed, then there are two motions. But this need
not be the conclusion.

In Phys. V 4 Aristotle is concerned only with descriptions of motions
which involve one singular term, e.g. “Coriscus is walking” or “Socrates is
becoming pale”. So according to the third condition, for two descriptions,
e.g. “a is X-ing” and “b is Y-ing” to signify the same change, “a” must
signify the same thing as “b”. In the case of changes that involve an agent
and patient, there are two grammatically singular terms, e.g. “Jones is
building a house” or “Jones is teaching Smith”. To satisfy the third con-
dition stipulated in Phys. V 4, for two descriptions, e.g. “ais X-ing ¢”” and “b
is Y-ing & to designate the same change, “a” must signify the same thing as
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“b”. That is to say, two descriptions pick out the same change only if their
subject-terms signify the same individual. The identity of ¢ and 4 will, on
this description of the change in terms of the agent, be captured by the first
condition, namely the specific identity of the track. So “ais X-ing ¢” and “b
is Y-ing & will designate the same motion only if “is X-ing ¢” and ““is Y-ing
d’ designate the same track (whose end-points may be designated as “is not
X-ing ¢” (or “is not Y-ing &) and “has X-ed ¢” (or “has Y-ed d”’)).

Since the designations of the motion involve two singular terms, we can
give a different description of the motion. We can say “c is being X-ed by
a” or“*dis being Y-ed by b”, and these two descriptions are the same only if
“c” signifies the same thing as “d” and if ““is being X-ed by a” and “is being
Y-ed by b” designate the same track.

The two descriptions “a is X-ing b” and “b is being X-ed by a” are not
synonymous with each other, but they designate the same motion. They are
not synonymous because the account of what it is for a to X b is different
from the account of what it is for b to be X-ed by a. In the first case we
describe what happens to the agent in relation to the patient; in the second
case we describe what happens to the patient in relation to the agent. This
account of descriptions of motions involving two singular terms does not
conflict with the Phys. V 4 criterion which stipulates that when the
description of the motion involves one singular term there is one subject.
When the description of the motion involves two (or more) singular terms,
there will be two (or more) subjects respectively.!® A different description
of the motion can be given with respect to each subject: each description
will refer to one motion, but the descriptions will not be synonymous with
each other because what it is to be that motion will be different for each of
the subjects involved.

A second objection can be raised. If, as I have argued, the agent is
changed by its involvement in the change which occurs in the patient, what
room is left for a mover that is not moved? Aristotle produces no separate
argument for an unmoved mover in Phys. Il 3, but he does claim at
200 a 30 that if there is a separate motion in the agent and in the patient,
then one of two impossible results will follow: either every mover will be
moved or there will be something that has motion but is not moved. The
second alternative is a contradiction. Aristotle clearly thinks the first
alternative is false.

Aristotle presents his arguments for an unmoved mover in Phys. VIII 5.1
shall merely summarize those arguments here since my point is only to
show that to ascribe to the agent participation in the motion is not to deny
the existence of an unmoved mover. In VIII 5 Aristotle presents a series of
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arguments to avoid the consequence that there will be an infinite series of
movers if everything that is moved is moved by something. He concludes
that the first in the series must be either a self-mover or an unmoved mover.
He then considers the problem of seif-movers. In order to explain the
motion of a self-mover, one must distinguish the self-mover into moving
and moved components. Again there will be an infinite number of movers
needed to explain the motion of the mover. So the series must end with an
unmoved mover. He concludes at 258 a 1-2: “Therefore part of the whole
will cause motion being itself unmoved, and part will be moved; for only
thus is it possible for something to move itself.”

In De An. 111 10 Aristotle tells us that the unmoved component of the
self-mover is the practical good.?? In G.C. I 7 he tells us that the art is the
first mover which moves without being moved.?! It is beyond the scope of
this paper to discuss the relation between the practical good and the art,
whether they are different things which stand in some relation or the same
thing under different descriptions, but it is clear, whether they are different
or the same, that neither can produce a change, so neither is an agent. They
are nonetheless explanatory conditions of the agent’s action. The practical
good and the art provide reasons for the fact that the agent produces a
change and for the fact that the patient is changed. So the account I have
given of the agent does not preclude the existence of an unmoved mover,
but actually requires such a concept in the explanation of the agent’s
action. I have not discussed Aristotle’s explanation of how the agent
changes as my aim has been merely to argue that in Phys. 111 3 Aristotle
proves that the agent changes.

In this paper I have argued thatsince Aristotle claims that the entelecheia
of the agent and patient is one and that doing and suffering are the same
because they belong to the same thing, the motion, he is also committed to
the claim that the entelecheia of the agent in virtue of its capacity to cause
motion and of the patient in virtue of its capacity to suffer it, insofaras they
are potential, is the motion. This is what Aristotle in fact claims when he
restates the definition at the end of Chapter Three: “[Motion is the en-
telecheia] of that which is potentially active and of that which is potentially
passive qua such.” Further, since motion is the entelecheia of both the agent
and patient, both are involved in the motion; and if both are involved in
the motion, both are changed. The account of that motion is nonetheless
different for the agent and for the patient because what it is for the agent to
produce a change in the patient is different from what it is for the patient to
be changed by the agent. This interpretation does not conflict with
Aristotle’s conditions for the identity of motions, which he presents in Phys.
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V 4, because there he is concerned with descriptions of motions involving
one singular term. Such motions must have a single subject. When the
description of the mation involves two or more singular terms, there will be
two or more subjects involved in the change. Different descriptions, which
are not synonymous with each other, can be given of the motion as it
pertains to each of the subjects involved. Nor does this interpretation
exclude the existence of an unmoved mover. The unmoved mover is dis-
tinct from the agent as an explanation of the agent’s action.
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the subject, whether it refers to that which acts or that which is acted upon, is different
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